50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Fifth Semester B.E. Degree Examm@
Management and Engine
Time: 3 hrs.

Note: 1. Answer any FIVE full questions,
2. Use of Interest Factor table permitted.

a.

Define Management. Give a b
Explain the various ﬁmctiori‘:%h

Mention the differenc

odule-1

account of the nature o

between strategic planmn
Explain the varlo‘@%fgps of planning.

What is ang r“g nization? Explain the t)ge of organization.
Briefly & the essential of sound controlling.

)’ OR
Explain the shaft selection pro{yss in an organizati

Define leadership. What at

Explain the probl
Explain the law
Explain elastlg&y

4

¢ the sasic styles of }c

f interest for

demand with an'

15MES1

Max Marks: 80

&Z%gemem

hat is MBO arid MBE?
hip? Explain gacﬁkm brief.

4
(ii) menthly  (iv) daily
3 mdue-4
Plan A Plan B Plan C
6 years 3 years 4 years
2000 8000 10000
3200 700 500

Compare the present Wo

h of the alternatives using an interest rate of 7% p.a.

mg ONE full questtoéﬁyﬁh each module.

(04 Marks)
(12 Marks)

(04 Marks)
(12 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(06 Marks)
(06 Marks)
(04 Marks)

(08 Marks)

a,nominal annual rate of 6 percent that is

(08 Marks)

(12 Marks)

The rights to a paten%have been sold under an agreement in which annual year end payments
of Rs.1,00, OOO ire. to be made for the next 10 years. What is the present worth of the

1of2

(04 Marks)



pmd

<D

SRk

%)

OR
Two models of small machines perform the same fu
cost of Rs. 95,000 and a relatrvely high operating’

15MES1

stion. Type I machine has a low initial
t of Rs. 19,000 per year, has a short life

of 4 years. The more expensive Type II machine osts Rs. 2,50,000. With an operating cost
of Rs. 8000 per year and has a life of 8 years. Whlch machine is preferred when the MARR

is 8%. Use equ1valent cost method.

(08 Marks)

A company is currently renting a parkmg ot for employees and vrsrtors and visitors use at
an annual cost of Rs.9000, payabie on the first of each year. The company has an
opportunity to buy the lot for Rs 50 000. Maintenance and taxes on the property are
expected to cost Ks.2500 annuauy. Given that the property w1h be needed for 10 more yeais,
determine what sales price must be obtained at the end of the period in order for the

company to break even, when the interest rate is 12%.

Module-5 (. :
Explain briefly the standard cost and marginal cost.

Explain the 1mportance of estimating and costing.

(08 Marks)

(04 Marks)
(04 Marks)

A factory produce CFL tubes in batches’ ef 1000. The direct material cost for a batch is

Rs.1600 arld dxrect labour cost is Rs.2000:;

The factory overhead is 32 percent of material

and labou”‘ osts. Selling and dlstrlbutlon costs are 20 percent of factory cost. If the

(ii) Sum of years method (111) Double det n&}mg balance m tho'd, Tabulate the values
wn in Fig.QlO(b):
i the cost is Rs, 20/Kg.

; All dimensions in mm
Fig.Q10(b)

% % % % %

2012

(12 Marks)

alculate the material cost, it the

(04 Marks)



